cT (cm) | YieldinBin A YieldinBinB  Yield in BinC  Yield in Bin D
10 454 4+ 0.8 37.0 £ 0.7 83.1+1.1 1113+ 1.3
50 30.30 + 0.47 161.0 £ 1.1 16.10 £ 0.34 3.43 +0.15
100 20.20 = 0.42 96.3 £ 0.9 18.10 = 0.40 4.54 +0.20
200 10.75 £ 0.41 48.7 £ 0.8 13.93 = 0.47 3.68 £ 0.24
400 419 £ 0.27 23.7 £ 0.6 7.87 £0.38 1.75 £ 0.18
600 2.39 £0.19 15.7 £ 0.5 5.42 £+ 0.29 1.21 +£0.13
800 1.63 + 0.16 11.20 £ 0.42 3.98 + 0.25 0.87 £ 0.11

1000 1.32 +0.14 9.02 £0.37 3.45 £ 0.23 0.76 £ 0.10
1200 1.20 £0.14 744 £ 0.35 2.76 £ 0.21 0.61 = 0.10
10000 0.23 =£0.05 2.04 £0.17 0.31 £ 0.06 0.049 £ 0.026




